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If C.P =%1270.00 and S.P = X3960.00, then profit =
(i) X2570.00 (ii) X2520.00 (iii) X2850.00 (iv) X2690.00 (v) X2960.00

If C.P =3%3010.00 and S.P = X1810.00, then loss =
(i) ¥1140.00 (ii) X980.00 (iii) ¥1220.00 (iv) X1200.00 (v) X1460.00

If C.P =X2320.00 and S.P = X4030.00, then profit % =
(i) 78.71% (ii) 68.71% (iii)) 76.71% (iv) 73.71% (v) 70.71%

If C.P = %2550.00 and S.P = X2390.00, then loss % =
(i) 8.27% (ii) 4.27% (iii) 6.27% (iv) 5.27% (v) 7.27%

If C.P =X1150.00 and profit = X1330.00, then S.P =
(i) X2220.00 (ii) X2510.00 (iii) %2480.00 (iv) %X2730.00 (v) %X2360.00

If C.P =%1640.00 and profit = £910.00, then profit % =
(i) 52.49% (ii) 50.49% (iii)) 55.49% (iv) 60.49% (v) 58.49%

If C.P =X1130.00 and profit % = 115.04%, then S.P =
(i) X2430.00 (ii) X2250.00 (iii) X¥2500.00 (iv) %X2160.00 (v) X2590.00

If C.P =X1240.00 and profit % = 203.23%, then profit =
(i) X2540.00 (ii) X2380.00 (iii) %2770.00 (iv) %2250.00 (v) X2520.00

If C.P = X3080.00 and loss = X30.00, then S.P =
(i) X2930.00 (ii) ¥3190.00 (iii) X3000.00 (iv) X3050.00 (v) X3180.00

If C.P =32750.00 and loss = X1710.00, then loss % =
(i) 59.18% (ii) 62.18% (iii) 65.18% (iv) 57.18% (v) 67.18%

If C.P =%1980.00 and loss % = 11.11%, then S.P =
(i) X1760.00 (ii) X¥1530.00 (iii) X1710.00 (iv) X1780.00 (v) X1980.00

If C.P =32020.00 and loss % = 34.16%, then loss =
(i) X687.00 (ii) X697.00 (iii) ¥662.00 (iv) X690.00 (v) X716.00

If S.P = X2730.00 and profit = ¥1300.00, then C.P =
(i) X1550.00 (ii) X1430.00 (iii)) X¥1300.00 (iv) X1590.00 (v) X1360.00

If S.P = X1620.00 and profit = X610.00, then profit % =
(i) 65.40% (ii) 63.40% (iii) 57.40% (iv) 55.40% (v) 60.40%
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If S.P = X2810.00 and profit % = 99.29%, then C.P =
(i) X1410.00 (ii) X1370.00 (iii) X1580.00 (iv) X1290.00 (v) X1560.00

If S.P =X3310.00 and profit % = 64.68%, then profit =
(i) X1300.00 (ii) X1230.00 (iii) X1060.00 (iv) X1580.00 (v) X1450.00

If S.P = X2910.00 and loss = ¥550.00, then C.P =
(i) X3310.00 (ii) ¥3590.00 (iii) X3460.00 (iv) X3530.00 (v) X3380.00

If S.P = X2660.00 and loss = X1480.00, then loss % =
(i) 35.75% (ii) 40.75% (iii) 30.75% (iv) 32.75% (v) 38.75%

If S.P =X1070.00 and loss % = 45.96%, then C.P =
(i) X2110.00 (ii) X1700.00 (iii) X1840.00 (iv) X1980.00 (v) X2160.00

If S.P = %1030.00 and loss % = 29.93%, then loss =
(i) X462.00 (ii) X435.00 (iii) X¥412.00 (iv) X456.00 (v) X440.00

Find gain formula.

(i) S.p—=M.P (ii)) C.P —=S.P (iii) M.P—-C.P (iv) S.P-C.P

Find loss formula.

(i) C.P—=S.P (ii)) S.Pp—-C.P (iii) M.P-C.P (iv) S.P - M.P

Find gain percentage formula.

_ SP-CP __ SP-CP _ cpP-sp  CP-5SP
(i) I x1001% (i) I x1001% (iii) [ x1001% (iv) [ x100]%
S.P c.p c.p S.P

Find loss percentage formula.

(i) [S'P_C'meow (ii) [C'P_S'leoow (iii) [S' ~x100]% (iv) [— 'Px100]°/
' S.p o M S.P o C.p o W C.p °

Find selling price formula.

100 + gain% . 100 ... 100 + loss% ) 100
- XC.P (ii) XC.P (iii) XC.P (iv)

(i) : - xC.P
100 100 + gain% 100 100 + loss%

Find cost price formula.

100 + gain% 100 + loss% 100 ) 100
(i) XS.P (i) XS.P (iii) P (iv) . X
100 + gain%

XS. S.P
100 100 100 + loss%

Two articles of the same cost price are sold. If one article incurs a gain of x% and other a loss of x%, then overall

%loss is

(i) 1 (i) O (iii) )2( (iv) 2x



Two articles are sold at the same price. If one article incurs a gain of x% and other a loss of x%, then overall
" %loss is

i 20 i < iy X s
| " I 100 1 100 v X2
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1) (iv) 2) (iv) 3) (iv) 4) (iii) 5) (iii) 6) (iii)
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